o

n .
I
OLO ;01_
< &
)A
eﬁ_ Qi
X
w Kl
CURNGC
po=
T B
s yt
__OE
M
= o
up EH
5 X
DU
I
o o
T X
1]




o
o)
i
el

-
fin}

thg 1w 2ol 24 1 91¢] RO = BO 4
AEHE 2L

z
A0 B
O e R X Lo N ©) EE BN
@ 7] ® 24







AB ©] 441
®

171
7] o] %7
o4

AB

®

Ho

)

or




5.

the 13 9] AABC O] tisto] [ |qtof ggke Ao 2 #x]oj A-e?
me g ol BCof dzte [ Jeldt
®ad @cm @A @b O
(B O] -2 po]il, BC 9] thZ}-2 A lth.




o (B et «C 9 2715 €2 = o, "

% A

5

T2

z70] ol Aok AL

g A

AABC

6.

5}
=

D A

(5
<+

ol

@)sc




SUu)
rlo o

oA H ABFE 9} 4=

2AE7} obg




>
> ®e 27

™ BEFC 2} 22l HE M ABC, DEF 9] 2 7jo|t},




A2 2 A AA L m oA BH P, Q, Rof tigh

@)P1Q, QLR ©|% PLR o]t
@ 11LP,m1P ©|H [//m o]t}
® 1LP,P//Q o™ 11Q o]t}
@ 1//m, 1//n ©1" m//n O},
® P1Q, Q//R °|"| PLR ©]c}.

@ PLQ, QLR o9 PLR 7} A A&s}= AL opyrh.




10. the 1YL /XOY 9 277 22 72+ EZ £ st o2 oo A
St 74 e Zo|t}, ZE A2 22 229
Y @
Q) ©
© ®@
=

Ne

o eoece @oeoee 06060
® 90606 6 6-6-0-8-0

X Z X
(G)
E T 2 E ] 2
Foldl AYIA A& £4E

0-6-6-@-@




11. e 282 PQ 9 42ol5 2}
o} AL 242 g8 Udst 489
®6-0-0 @9-0-0
®e-0-0

@ 9-©-0




H2 A, B =t .
3] = A A, BE 27}

)
e a8

ME: 0 EFAHOR o=

EiS: olmj o] REA59] hol= 0
2% 2 2F P et H 0 E ol

Y
27]
Beh: g2 /XOY o o] 5 AL gt Ao]of

He @2 P2 7 o A
oo}tz e,

=
j=

2 0] Zoli wEA|

©)
>
1o

N




13. o2 298 A4 XY §H9
2418 2= gk Zlo|t}, AB 9} 7

iy
A @
© P /D
A ®
X—q 7B Y

AB =CD, AQ =BQ = CP =DP




14. "5 2824 P S Aual 24 1o BT A4S 2h=et 2o

0 TR A g 2L

©
Q
@C
1 —2 /,B@
®
D ©-6-0-86-0 ? ©-0-0-0-08
® ©0-086e ® ©0-0-006

®e-eo6-00

~&B

®HdQEFTHL

oM 1Y Axte] w
©@HEdPAHR= /\1—‘:—‘:}
- ©-0-0-0-0-6




oA EE?

D ¢ 79l $12]¢] BA2:= BC, EF o[t}




16. tF& 193 Zo] Wio] A7l 4275l A A F °F | ABC
Atole] A& acm , F E ¢+ A ADFC Aol o] A& bem , H C 2}
™ ABED Ato]9] A2]E cem , F A ¢ A DEF Ato] 2] A& dem
g S a+b+c-d 9 = oot

A~
3emt 4cm
1, ! \‘
| \
BfF— C
~-bem- - |
| \
| \
| 1
D' 6cm
/\\\ "
// N 1
o g
> =
> ®E 7

B

AF ¢t ABC AFo] 9] A8 =CF = 6cm = acm
A E 2} ¥ ADFC Ato]2] A2 =DE = 3cm = bcm
Z C ¢ ¥ ABED Afo]9] A2]=AC = 4cm = cem
Z A ¢} ¥ DEF A}o]9] A2]=AD = 6cm = dem
“a+b+c-d=64+3+4-6=7




M AFGB, ' BGHC , ¥ CHID , ' DIJE , ¥ EJFA




18.

_E_
=

ADE_Q]— e | og 0].1] 01-1;]_




19. o2 ALHAA oA A BC 9F Bl BA 2 Y] LS o 7, BAE
CG o} 7191 §12]90 = mAl ] 5 b et & o a+b O] 327

A D
|

B : C
|
|
|
/)I- ______ __H

F G

® 4 @5 @6 @ ® 8

A2 BC < Bayst A g BAE EH, FG, AD 9] 3 7]
B2 a=3

ZAE CG & mA A UeE BAHE EA
2 AB, AD, EF, EH 9] 4 7jo]|B& p = 4
m2tA a + b =7 ©|t}




Al A9l

Zo]7} 2em , 4em , Sem , Tem 91 Y] 7He] AEo] STt

20.

® 3714

@271

@ 1714
@ 4 7}HA]

® 574

she

7ok

Aol et




